Example 3.17. Sketch the phase portrait of the system
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Example 3.18. Now consider X' = AX where

-01 0 1
A=| -1 1 -1.1|. The characteristic equation is
-1 0 -01

—2% +0.84* — 0.811 + 1.01 = 0, which we have kindly factored for yc
(A2 + 0.21 + 1.01)(1 — 2) = 0. Therefore the eigenvalues are the roots o

-01 -1 0
equation, whichare l and—0.1+i./J=| 1 -01 0
0 0 -1

Solving (A — (—0.1 + i)I)V = 0 yields the eigenvector
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Ans.
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i V2 =2Y; + Y3, V3 =12)3
. Nn=2n+y:
we can solve first y; and then y, and use the result to find y;, or we can use directly

(2.15) and theorem 2.5.1 we get
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Fig. 2.14. The surface S containing the trajectory

{#.(0.b.c)IteR} of (2.107), obtained by translating
the curve given bv (2.109) in the x,-direction.

Example 3.18. Sketch the phase portrait of the system
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And the eigenvector are V; = [2] Vo = IOI WV = [1] then M = [2 0 1]
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